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1 301 4’34 R FR— pras 2
2 302 4’38 IR v F¥Rep 2
3 303 4’39 RE KE ENEER =2
4 304 4'50 s 3k R 02
5 305 4’51 mE iR INGEER th2
6 313 4'57 R ZFKEP INFEER T mh2
7 316 5’09 RO %R ERfHTpE = 1
8 307 5’14 EiR 1R T&FEAF 1
9 306 5’18 KEE AN T&FEAFE f1
10 312 5720 EZE SRIZSC 2
11 315 5’21 BRE &2 INFEERH 1
12 314 5’22 IR E E:ELE 1
13 309 5’34 W X SRIESC 2
13 308 5’34 i S ERIESC 2
15 311 5'36 RO =% SRIZSC 2
310 DNS WHR BAARB SIRESC 2
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1 318 5’04 RIZ B EARU=L th2
2 330 5’12 O BX EARY=L f1
3 324 5’16 wnE B EARU=L 1
4 326 5’19 mE & fEME th2
5 329 5’31 WEE  B5fC EARU=L 1
6 327 5'34 Nt FE T&FEAFE $3
7 323 5’35 E£F FHF INFEER =alp}
8 319 5’36 R 1BE T&FEAFE 1
9 332 5’38 KE IREF HEMCE th2
9 322 5’38 HE KE INGEERHR 1
11 328 5’39 £F B HEMCE 2
12 321 5740 R RE T&AFEAF ==k}
13 320 5741 Bis =t T&FEAFE 1
14 325 6’15 e & SRXESC h2
317 DNS £F AT T&FIEAF 2
331 DNS Ml s SOBRAR- REF-{EAZED




